
Sunrise Medical 2842 N. Business Park Ave Fresno, CA 93727 USA
© 2022 Sunrise Medical (US) LLC

05/2022 255701 Rev. A Page 1of1
Customer Service: +1(800) 333-4000

or visit www.SunriseMedical.com

R90™ CONTROL BOX

™

Please read these instructions carefully before beginning the assembly.  Failure to understand and 

follow assembly instructions may result in injury to technician and/or end user and may void the 

warranty. If you have any questions call Sunrise Medical Technical Support at +1(800) 333-4000.

           DEALER/TECHNICIAN WARNING
Attention dealers and qualifi ed technicians, do not operate or service this device without fi rst reading the owners manual. 

If you do not understand the instructions and warnings in the owners manual please contact the Sunrise Medical Technical 

Service Department before operating and/or servicing the Empulse device. Failure to do so may result in damage and/or 

injury. 

Find more information and important warnings in the device owner’s manual or at: www.SunriseMedical.com.

Tools required
1.     Flat head screw driver 

        (to remove battery)

2.    2mm Allen wrench

3.    2.5mm Allen wrench

4.    5mm Allen wrench

Parts
1.    R90 Control Box 

       including Mount 

      (Right or Left)

2.    R90 Control Box

       (Right or Left)

3.    R90 Control Box Mount 

       (includes items 4-8)

4.    Vertical Bracket Short

5.    Vertical Bracket Tall

6.    SHCS M6x35 (x2)

7.    SHCS M6x40 (x2)

8.    SHCS M6x45 (x2)

9.    M3x10 BHCS (x2)

Height Option 1

Tall Mount

Left side confi guration shown

3Short Mount

Right side confi guration shown

2

5

Tall MountShort Mount

Angle Adjustment

3

9 2

1

2

3

5

0°

horizontal 

tube mount

22°

horizontal 

tube mount

45°

horizontal 

tube mount

4

9

For 45° mount, remove hardware and 

line up bracket with a new set of holes 

and reattach hardware.

For vertical mount, rotate clamp 90°

2.4-in 

(60mm)

4.3-in 

(110mm)

Adjustment ScrewsAdjuststststststststststststststmemememememememememememememememementntntntntntntntntntntntntntntntntntntntnt Screws

1.4-in (35mm)

M6x45 screws

1-in (23mm)

M6x35 screws

1.1-in (28.6mm)

M6x40 screws

4Tube Size Confi guration

6 7 8

0

1
5

1
5

3
0

3
0

45

TORQUE !

Clamp 

screws
Torque clamp screws to 

16.27 Nm [144 in-lbs].


